
 
Latest Revision: 8/10/2021 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 1 of 5 

 
 

Product Packing List 
Product:    SDHQ-00-1131-U1-9100 
Description:  Universal Billet Switch Pros 9100 Keypad Flush Mount 
 
  (1) Universal Billet Switch Pros 9100 Mount  SDHQ-53-1130-G3-B 
  (1) 3D Printed Backer     SDHQ-00-1131-U1-9100-A 
  (1) Cut Template      SDHQ-00-1131-U1-9100-B 
 
 
 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Inspected and Packaged By:        Date:     



 
For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  

Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 2 of 5 

Included in SDHQ-53-1130-G3-B:  
(1) Hardware Package      SDHQ-53-1130-G3-HP 
  (4) #6 – 32 x ¾” S.S. Button Head Bolts 
  (4) #6 S.S. Washers 

  (4) #6 x 3/8” Rubber Washer 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  

Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 3 of 5 

INSTALLATION INSTRUCTIONS 
Product:    SDHQ-00-1131-U1-9100 
Description:  Universal Billet Switch Pros 9100 Keypad Flush Mount 
 

 
 

Tech Notes 
Use medium thread locker on supplied mounting hardware. 

**Approx install time = 30 Minutes (not including wiring)** 

 

Parts List Hardware List Required Tools 
(1) Billet Switch Pros 9100 Keypad Mount 
      SDHQ-53-1130-G3-B 
(1) 3D Printed Backer 
      SDHQ-00-1131-U1-9100-A 
(1) Cut Template  
      SDHQ-00-1131-U1-9100-B 
(1) Hardware Package 
      SDHQ-53-1130-G3-HP 

(4) #6 – 32 x ¾” S.S. Button Head Bolts 
(4) #6 S.S. Washers 

(4) #6 x 3/8” Rubber Washers 

Thread Locker (Medium) 
Sharpie 

Panel Cutting Tools 
 



 
For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  

Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 4 of 5 

***READ ALL INSTRUCTIONS THOROUGHLY FROM START TO FINISH BEFORE BEGINNING INSTALLATION! *** 

 

Installation Instructions: 
 

1. Unbox your Universal Billet 9100 Mount and gather your Switch Pros 9100. 
 

2. Place the supplied cut template in the desired location for mounting and mark the inner hole 
with a sharpie, shown in red. The outer edge shown in blue is the footprint of the mount to 
assist in spacing or clearance when selecting a mounting location. The outermost edge shown 
in green is the footprint of 3D printed backer.  

 
3. Once marked cut out the mounting hole. Start small and trim to fit as needed.  

 
4. Using the hardware supplied with your Switch Pro, place your 9100 Keypad into the Universal 

Billet Mount and place it into the mounting hole. Place the 3D printed backer behind the mount 
and thread on the (4) nuts and washers onto the Switch Pros threaded posts.  
 

 
 

5. Run wiring according to Switch Pros instructions. Enjoy your SDHQ Built Universal Billet 
Switch Pros 9100 Mount!  



 
For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  

Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 5 of 5 

 
 

***Double check all hardware is installed correctly and tight*** 
 

***Re-torque ALL bolts after 100 miles*** 
 
 
 

 
 
 
 

 
190 S McQueen Rd 

Ste 109 Gilbert, AZ 85233 
Phone: 480-633-2929 | Fax: 480-633-1791 

www.sdhqoffroad.com 
 
 
 

Follow us on: 

 Facebook   Instagram 
 

http://www.sdhqoffroad.com/

